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2). CPUE
* LogCPUE-Normal ( )
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# of repeat=1000
(Error=1.0) Decay=0 (0.01)
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6).Case Study: -(1)
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— MSE=% (CPUEpre(i)-CPUEobs(i))%/N

3. VMStudio
7).Case Study: -(2)

. Pearson
(Kendoll-t , Spearman-p )

SBT Support vector machine Neural network Treg reqression model

jBtT hfggpot Vecmgachine MSNEeura' méork J;eEe fegfesshiﬂozEmode' data|Pearson Kendollr {Spearmang |Pearson |Kendollt |Spearman |Pearson Kendoll |Spearmanp |
ata L.
Training 0 YARGE ol ) o7 . 0910| 0498  0676] 0937 0564 0724] 0565 0362 0490
Testing 175 o48| 188 o2r* 339 121 Testing | 0820 0474* 0653 0821 0470 0837 061 0374 051
Total 118 835] 97| 650 366 126 Totd | 08%4] 0494  0672] 0813 0544] o706 0574 0364 0494
*
( )
* )
3. VMStudio 4.
8). 1).NUOPT
Ny N, N,
CPU pe:rz(lj z (1J (1J ZCPUEy’);:r.montharea.latitude —C.f. ( )
Nm month=1 Na area=1 | /latitude=1 —c f ( )
. | . ()
gZO .
Hessian, Profile-Likelihood, Bootstrap etc.
4, 4,
2).VMStudio 3).
. Advantage Disadvantage
e
—eg.SVM SVM-R SHHIVEAR .
— e.g. Naive-Bayes Boosting SAS
—edg.
g SPSS cul
* GUI GUI
* NUOPT Trial and AR !
Error
R




END

Thank you for your kind attention!

2010
2010/11/19 (Friday,

1). (Shapiro,1985)
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2). (Chen,1993)
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c.f. Minimum Distance (Henna,1985)
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. 1 - How?
1. e.g. K(x, y)=exp(-|x-y|?/o ?) etc.
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